EAGRAROBREERT — 2 N— ABISH —F

2020528160 (H) 20m{£E5H

mﬁﬂ%}'iﬁ_i@”ﬁﬁ H# C1 ¥3%R4mtE \ (X8] 8 \ [REBE] — | & () 1400 F&
[AE£] 1% :450,000 3 ~ 2% :135000H  3#&:45000H ~ 43#%:27,000” . 53 :18,000 @
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
_ — g aee [i[mE} :28. —-6-3— . — FLURS (&B)
(55| 71TaFys o8 aa 1(2_8)3 9-6-3-2 | 37.0 2 <4+711) ThEZ =]
R:vY I Ny THL BFUEUEL N T — e
S s 4 5 | WTHAE 1:28.6 1-1-1-1 | 37.9| — 1 477 | ABERX (EB)
EE 6| TV 56.0 A 1/2) (o) |FEE
:ErFAOvY BN EX EES
R i . —0_0_. — ImEEA (£E)
3lgliglER/ AU A #5 56.0 1'(24?)'3 ree3 |85 s (4_578) REET -
LU—FHIIYL B:YaTH—Ta NEFE B
N HIAKIRA : -9-84 — INTEN (E8)
4 S| FrThTL 6 L 1.(350).2 11-9-8-6 | 37.4 5 5_043 EH%‘A{
L:xA21=Y7—2R BEAILTILTIR B 77— L4
> jt 5 | BERE 1:30.2 3-3-4-4 [38.9| — 7 520 | EBTiE (1£8)
s 4| OhT—F2 54.0 F4%) () | EREER
RHYRY4TTZ BAAOVE 2HIT7— I
S Al :30. —4-6- . - AR—X (£8)
6l1]1|YFR>T—0 S ED | B ? o |FLEE
RTUTANLE B:FVENT—IR =1
P E Y, > 5 | SHIEAR 1:30.5 5-5-5-5 | 39.1| — 4 454 | EE—K (£H)
7\7|o|ELYYET B (1178 (p) | HilER
ik INAMA— BN/ —VU—2X =R E%E
. S t> 5 | BER—E 1:30.8 6-7-7-8 |38.4| — 1 468 | ALAIRR (1£%)
EE 2| Vox—a XL 77| 5.0 1'1/2) Loy | ) A8
R:TL>FFE2T7« B:OXT4—% ZNAE—FRF—TIL
=z :31. -10-11- . - THERE (£8)
ol7lg|x¥—74—Ho€x o8 e 1(321)2 8-10-11-10 | 37.8 6 ig; 5@#%& i
X THANAN B4 RIN— hF— "HET77— L4
S o — FHAFIK :31. -11-10- . — HHFEE (E8)
10l 8111 KIFLUF 4 Hh 4 6 54.?) 1(7311:;3 10-11-10-11] 38.1 9 (4_035) o =
LW—5—29 7 B:A-—HIAbTzA AHME—FRT—TIL
N AIMES : —8-9- - EHAE (BH)
11 IR ANA=R s 54.0 (11'31]/'26) TE99 | %86 10 (4_524) IWFE .
L:84¥>v ML B:vRE—FT T =Sl
® 1 —F—EBIERL
13=7r= 6,10,4,1,9,2,3,8,5,11,7
23 =7= 6,10,4,1,9,5,2,3,7,8,11
BEE 6,10,5,4,9,1,2,7,3,11,8
41—+ — 6,5,10,4,9,7,1,2,3,8,11
[ N3
BB 5 300H 714K 5-6 110H e 5-6 160H 3JEHE 5-6-10 270M
8 B 5 1004 5-10 210M B = 5-6 150H K31 5-6-10 1,060M
6 1009 6-10 170 B H 5-6 380M
10 1304

ARICOVWTRDTEEERROODE. TR LI,




